~

2023 +HHERUN - 2> UL —A—=/NL

2CTV

UNERIEFEDEH) 2. Okm RRiREC 8%

-y |- B 4 2y HF | R || OB 545 |BEHR
M2 il k3 FHIF Ak 41 3 | 1 |FHxe 814,19 1
418 |HEH %k HAA Y 4 | B 1 |jsaxc 8,22,31 9
409 | F4R XE hEx)Tam 2 | B ! mirEXc 9,01,22 3
404 |/hHF EIK AT, 3| B 1 |4 EXC 901,38 4
406 | #hE R BU= 2 | B 1 mirExc 9,18,96 5
A5 |m s TIY amE 41 3 | 1 |[FHxe 941,35 6
41 |HH arh 19% 3| B 1 |+BETAC 9,56,90 7
403 |jEifn BRI 950 YT 4 | % 2 |jzaxc 8,19,60 1
M4 o mm ESF Uh 4| X | 2 |Fguxc 918,96 2
407 |thEH 178 I 4 | x 2 |@rEXC 9,20,51 3
402 |BH =/ A3 3 4 | Z 2 |jisaxe 921,68 4
408 |JE  #5P R AN 4| X 2 |y EXC 9,45,60 5
M3 |k Btk SX4F E3Y 4] ® | 2 |Fzuxe 9.49.30 6
A7 | £EE 28+~ 3ak 2 | X | 2 |Fguxc 10.03.32 7
46 |k Fa IZ4F FH S| X | 2 |FgIxe DNS
418
419
420
424
425
426
427
428
429
430
431
432
433
434
435
436
437
438
439
440

LU ZVRE)




2TV

-~

(UhERBFEOER)

2023 +HHERUN:- Z>» UL —h—=nL

3. Okm

-7

E7

JUHF e

5

R

24 L

B2l
NE iz

396

K%

IRTF Y94 6

+ HHETAC

11,16,01

909

PE

AU VAN o 5

W4 EXC

11,26,78

904

FH

LZ¥=< Jaox 6

TZ%JXC

12,27,66

905

INSR

a4 X3 a9% 6

TE&JXC

13,04,78

908

KiE §

SXAF av 5

ot

TZ%JXC

DNS

918

921

923

924

925

926

927

928

929

HU - 2/ (E)



